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RBI Assistant Mains Reasoning Daily Mock 
 

S1. Ans. (c) 

Sol.  Statement I can be assumed from the given statement as the reason behind increase in funding can be 

the alarming challenge of climate change which require more focus and fund to deal with it. Statement II 

can’t be assumed from the given statement as we can’t compare the problem of climate change with other 

global issues.  

 

S2. Ans.(d) 

Sol. In the above question it is clear that Statement II will be the cause and Statement I will be its effect. 

Because it is mentioned in statement II that jawans have doubt how to deal with the women so this will be 

cause and its effect will be, The Indian Army will recruit women in combat roles to tackle such kind of 

situation. 

 

S3. Ans.(c)  

Sol. Statement (I) suggests that royals are not kings or queens by choice but because they have to, for the 

welfare of the country which is in line with the statement. (II) fortifies the statement by stating out an 

example in which he had to face problems because of his royal background. (III) is irrelevant to the 

statement.  

 

S4. Ans.(c) 

Sol.  Statement (I) and (II) are valid enough reason for dropping the charges against arrested men. Whereas 

statement (III) only gives some details about the severity of the sedition charges. 

 

S5. Ans.(b) 

Sol. Statement (I) follows as it is a well-known fact that wildfires in forest are mainly caused by high 

temperatures. Rising temperatures increases the demand of electricity in cities which could trigger power 

outages, so (II) also follows. Statement (III) –In this case, summer vacations get extended instead of get 

cancelled. 

 

S6. Ans.(c) 

Sol. In the above question we have to find the result of the above statement. 

For I-This cannot be the result because if a person does not have 

Aadhar, he/she will not get government help in treatment but can 

take treatment of TB without Aadhar. 

For II-This could be the result as mentioned in the given statement 

that patients need Aadhar card to get benefits under government 

scheme. 

For III-This also could be the result because it is clear from the given 

statement that to get benefits of the scheme verification of Aadhar 

will be required. 

For IV-This is not the result of the given statement because this 

statement states that cases of TB patients increased in India now 

which is not directly related to the statement. 
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S7. Ans.(c) 

Sol. For I- This argument does not holds strong because this initiative is for girls to get benefited initially 

but it is not like that education will make free for everyone. 

For II-This argument also holds strong because a law/scheme or bill should not be for any particular gender 

but it should be for the one who really need it. 

For III-This is also strong because gender should not be the criterion for the free education. It is the poor 

who should get the benefits. 

 

S8. Ans.(d) 

Sol. There is not enough evidence in the statement to conclude (I). It is mentioned in the statement that 

the event is a gimmick but is also a block buster money maker which clearly suggest that such events are 

able to draw people’s attention, so, (II) can also be inferred. As it is given in the statement that Floyd is a 

49-time undefeated champion whereas boxing is a new sport for McGregor, so (III) can also be inferred. 

 

S9.Ans.(d) 

Sol. For I- This statement negates the given statement as it states that the value of illegal notes entering 

India from Bangladesh seems to have come down whereas the given statement states that Bangladesh 

replaces Pakistan as hub of fake Indian currency. 

 For II- This statement supports the given statement as it states that Bangladesh is producing and 

smuggling fake notes. 

For III-This statement does not negates the given statement as it gives the additional information on this 

issue. 

 

S10.Ans.(d) 

Sol. In the above question we have to find which statement supports the given statement. 

For I- This statement supports the given statement as it states the issue of lynchings and politics of 

polarisation are dangerous. 

For II- This statement neither negates nor supports the given statement as it gives the additional 

information of him highlighting his congress party’s achievements when it was in power. 

For III- This statement also supports the given statement as it describes the negative consequences of Modi 

government’s Demonetisation and implementation of the goods and services tax (GST) on the growth of 

the country which is also mentioned that he criticised the Modi 

government over its economic policies. 

https://store.adda247.com/product-onlineliveclasses/4442/RBI-Assistant-Mains-Complete-Batch-Bilingual%C2%A0Live-Classes


3 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com 

 

 


